=
o
S

5} [Pb.GeV]
2

0)
=Y
o

N

d
dsqrt{d
o

Ratio to ATLAS

0.5

8000 GeV pp Z (Drell-Yan)
__I T TTI | I I T T TTT | I I T T TTT | I I T T %l m
= 35 C
— _ o )
- —1 >
= Splitting scale\/dﬁ0 (71<m <111 GeV) 33
= O
= 540
— <
- .o | N_
= Ty =9
= e L -
_ 0..‘%% — 7
= g’.!! e
- i,!’ =
— * —

- n =
= !!’ EL
— *m =
— A g
- P -8
= "~.‘::. 3
- 2 S
_ =
= B ATLAS =K
— ) dc
— A~ Herwig++ Powheg 2.7.1 default N g
= ¢ Sherpa 1.2.3 default R o
— : ] 5
| _|o
= =5 O
= =59
] ] el
- N 52
- 58 e m
- A : _
B A |
- A ]
- 1
u ’ A _A,A-A-A-AA.AA_%A ot .
— ' RE T XS 2 -
u \ t""’ Aids % -
— e, 0.5
O Y
11 | 1 1 1 .I‘ 1 1 1 1 | 1 1 1 1 1 1 11 | 1 1 1 I..AI 11 |
1 10 2 °

0 10
sqgrt{d_0} [GeV]



	Contents
	Page 1


